T 3 EEHE IR

R TS BK P 3 R SR
2 o 14F 24 34E
HF | & Ea B CER 373 1% &F VB 15
f& “e ey | | @R | dbE | IR | | @R | dbE | EIR | b | @R | dbE BESTN
28 26 i 2 26 i 2 26 % 2 24 | w4 24 | w4l 24 W 4
* 4 4 3 3 3
- 3 a2 a2 a2 b2 b2 b2
4 4 4 4
2 c2 c2 c2
* 2 2 2 2
HOFLEE * 2 2 2 2
2 c2 c2 c2
AR BHES * 2 2
BUR - R% 2 a2 a2 a2
BFE 1 * 3 3
_— %@H 4 2 2 2 2 2 2
A 2 a2 a2 a2
B 2 b2 b2 b2
Bz b AW * 2 2 2 2
R 4@%%%5% 2 c2 c2 c2
=511 2 a2 a2 a2
AW etk * 2 2 2 2
R |EE * 7~8 2 2 2 2 3 3 3
KE | * 2 1 1 1 1
A [ = 2 [2 [2 [2
e TINETSR Sk 2 Lo b Lo
% 2 b2 b2 b2
EREeY SVEVE - | * 3 4
ERPRYEEVE 31 4 3 3 3 2 2 2
SMNERE | JERERI T 2 a2 a2 a2
PEERBLI 4 b2 b2 b2
WEEAT 2 c2 c2 c2
S 372@%6% \\ * 2 2
T—RTFHPA b2 b2 b2
FERNC LM 2 ER - BHR B AR 18 15 [a2]) 15 [a2] 15 [a2] 17 [b2/c2) 17 [b2/c2) 17 (b2/c2)
[ S -3 2~6 2
e g2k 2~4 3 3 3
BV R R FEH 2~4 c2 c2 c2
~=T 4T 2~4 3
IR L RoE Rt 2~4 2
BV R AR 2~4 2 2
B ARG 2~5 2
PR IEE) & 1k 2~4 2
¥ (R 2~8 5
WG 2~6 4 2 2
WHSET 2~4 2
A E 2~6 3 2 2
HHLEE 2~4 2
g vuBil * 2~8 3
YR A ) 2~6 2 3
LRl iG] 2~4 2
TurssIvy 2~6 4
b A L 2~4 2
HEE BT D& EF - BB BALEE 10 11 0 11 0 11 0 7 (c2] 7 (c2) 7 (c2]
AR R ERIE D IREH] * 3~6 1 1 1 1 1 1 1
A= — LEH) * 3 1 1 1 1 1 1 1
BN EA 30 30 30 30 30 30 30
{ X3 1R LBEREOB%RTH S, CIGET B R - BHE TR - A L) SR TR
\IESET B R - B TR - FERTE) 13 AR BRI O BRI THRER

clzhzh 1R HBRIR




